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Algorithm = DE1;

Constant d=200, Wmin=30;

Constant H(3)=[0.35,0.35,0.35];

Constant Hmin=MinConst(H);

IntParameter P(3)=[0,d/Hmin/2], W(3)=[Wmin,d];




MaxFunction (W1*P1*H1+W2*P2*H2+W3*P3*H3)*2;
W1 mod5=0;
W2 mod 5 =0;
W3 mod 5 =0;
W3+5<=W2;
W2+5<=W1;
(d2)"2>=(W1/2)"2+P1*H1)"2;
(d/2)"2>=(W2/2)"2+P1*H1+P2*¥H2)"2;
(d/2)"2>=(W3/2)"2-+(P 1*H1+P2*H2+P3*H3)"2;
TEOT FAY 12-2
Algorithm = DE1;
Constant d=200, Wmin=30;
Constant H(3)=[0.35,0.35,0.35];
Constant Hmin=MinConst(H);
IntParameter P(3)=[0,d/Hmin/2], W(3)=[Wmin,d];
MaxFunction (W1*P1*H1+W2*P2*H2+W3*P3*H3)*2+W1*H1,
W1 mod5=0;
W2 mod 5 =0;
W3 mod5=0;
W3+5<=W2;
W2+5<=W1;
(d/2)"2>=(W1/2)"2+P1*H1+H1/2)"2;
(d/2)"2>=(W2/2)"2+P1*H1+P2*H2+H1/2)"2;
(d/2)"2>=(W3/2)"2-+P 1 *H1+P2*H2+P3*H3+H1/2)"2;
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Algorithm = DE1;

Constant n=3, d=200, Wmin=30;
Constant H(n)=[0.35,0.35,0.35];
Constant Hmin=MinConst(H);




IntParameter P(n)=[0,d/Hmin/2], W(n)=[Wmin,d];

PassParameter Area=pi*(d/2)"2, Length=Sum(i=1:n,P,H)(P*H)*2;

MaxFunction Sum(i=1:n,W,P,H)(W*P*H)*2;
For(i=1:n,W)(W mod 5 = 0);
For(i=1:n-1)(W[i+1]+5<=W[i]);
For(i=1:n)((d/2)"2>=(WT[i]/2)"2+(Sum(j=1:1)(P[jI*H[j]))"2);
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Algorithm = DE1;
Constant n=3, d=200, Wmin=30;
Constant H(n)=[0.35,0.35,0.35];
Constant Hmin=MinConst(H);
IntParameter P(n)=[0,d/Hmin/2], W(n)=[Wmin,d];
PassParameter Area=pi*(d/2)"2, Length=Sum(i=1:n,P,H)(P*H)*2+H1;
MaxFunction Sum(i=1:n, W,P,H)(W*P*H)*2+W1*H1;
For(i=1:n,W)(W mod 5 = 0);
For(i=1:n-1)(W[i+1]+5<=WI[i]);
For(i=1:n)((d/2)"2>=(W[i]/2)"2-+(Sum(j=1:1)(P[j]*H[j])+H1/2)"2);
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pl: 124 pl: 124
p2: 80 p2: 79
p3: 54 p3: 55
wl: 180 wl: 180
w2: 140 w2: 140
w3: 85 w3: 85
1% %% $ (PassParameter): 1% %2 $ (PassParameter):
area: 31415.9265358979 area: 31415.9265358979
length: 180.6 length: 180.95
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Algorithm = DE1;

Constant k=0; //k=0: HECNFR; k=1: FFHOTHR
Constant n=3, d=200, Wmin=30;
Constant H(n)=[0.35,0.35,0.35];

Constant Hmin=MinConst(H);

IntParameter P(n)=[0,d/Hmin/2], W(n)=[Wmin,d];

PassParameter Area=pi*(d/2)"2, Length=Sum(i=1:n,P,H)(P*H)*2+H1%*k;
MaxFunction Sum(i=1:n,W,P,H)(W*P*H)*2+W1*H1%*k;

For(i=1:n,W)(W mod 5 = 0);
For(i=1:n-1)(W[i+1]+5<=W[i]);

For(i=1:n)((d/2)"2>=(W[i]/2)"2+(Sum(=1:1)(P[j1*H[j])+k*H1/2)"2);

I A ERACRS TS 2,3,4 AR G RARME,  RIATACBEASRI S 5 R I HL )

AR s A B DAL AT AR AL BE T

1) 18 —: n=4, d=150, Wmin=30, H(n)=[0.35,0.35,0.35,0.35]
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H A% B& B (5 K): 15610 H b bR BUE (5 R): 15603
pl: 76 pl: 76

p2: 52 p2: 61

p3:43 p3: 39

p4:31 p4: 25

wl: 140 wl: 140

w2: 120 w2: 115

w3:90 w3: 85

w4: 50 w4: 50

1% ¥ $ (PassParameter):
area: 17671.4586764426
length: 141.4

1% ¥ 2 $ (PassParameter):
area: 17671.4586764426
length: 141.05
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2) EBE: n=4, d=250, Wmin=30, H(n)=[0.45,0.40,0.35,0.3]
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w2: 195
w3: 145
w4: 85

1% %% $ (PassParameter):
area: 49087.3852123405
length: 235.1

w2: 200
w3: 150
w4: 90

1% %% $ (PassParameter):
area: 49087.3852123405
length: 233.15
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3) fEE=. n=4, d=250, Wmin=30, H(n)=[ 0.3,0.35,0.4,0.45]
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pl: 142 pl: 141

p2: 92 p2: 93

p3: 63 p3: 67

p4: 39 p4: 35

wl: 235 wl: 235
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w4: 85 w4: 85

£33 2 %1 (PassParameter):
area: 49087.3852123405
length: 235.1
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area: 49087.3852123405
length: 235.1
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